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45. At the tea kettle-throwing contest, Fran threw
the tea kettle 645 feet. Pablo threw it 288 feet.
How much farther was Fran's tea kettle than Pablo’s?

Fran's tea kettle was feet farther than Pablo’s.
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46. Big Bob grilled 518 pounds of veggies on W
his barbecue. Humongous Hal grilled 493

pounds of veggies on his. How many more
pounds of veggies did Bob grill than Hal?

Bob grilled more pounds of veggies than Hal.
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47. Cowgirl Carly blew up 901 cactus-shaped
balloons for her birthday. 713 guests came
to the party. She blew up 855 hat-shaped
balloons. How many more cactus-shaped
balloons are there than hat-shaped balloons?

There were more cactus-shaped balloons than
hat-shaped balloons.
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48. Cinderella bought a glass slipper for $842.
She bought a tin tiara for $366. How much
more money did she spend on the tiara?

Cinderella spent $ more on the tiara.
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